
Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the slides (twice).
- Looking at them as little as possible, answer the questions.

The answers of Week 1’s questions should be handed to me at the beginning of the next lecture at ISEG. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the slides). Keep a copy for yourself.

Reserve 3 hours per week to answer the questions. If you answer them in a serious way, you’ll need to study much less for the exam.

Please write WEEK 1 in bold at the beginning of your answers.

Week 1
L1: Costs and price determination in competitive markets

1.What is a fixed cost?

2. What is the fixed cost in capital per year of a business?

3. a) What is the difference between a production line and a overhead worker?

b) Who are the production line and overhead workers at ISEG?

4. What is the fixed cost in labour per year of a business?

5. a) What is the variable cost of a restaurant?

b) What is the marginal cost of a restaurant?

c) “The marginal cost increases as the level of output rises.” Do you agree? Explain.
6. “The unit cost of a firm rises as output increases up to full-capacity.” Do you agree? Explain.
7. a) What is the profit rate?

b) What is the profit margin?

8. Why do businesses want to operate below full-capacity on average over time?

9. What is the normal unit cost? Is it higher or lower than the UC at 95% of capacity utilization? Explain.

10. If KE=100€, the UVC=1€, the normal rate of utilization = 100 units (=80% of 125 units), the total fixed cost = 100€ and the target profit rate =10%, which price is set by the firm? Explain.
11. What is the price based on the normal cost (PNC)?

12. Which profit rate does a firm choose as target?

13. Give examples of industries that operate under competition.

14. What are the two features of a competitive market?

15. What determines the interest rates paid on savings deposits?
16. a) What happens if the profit rate in a competitive market is above the rate that just compensates for the risk? Explain.

b) Does the same happen in an oligopolistic market? Explain. 

17. What is the difference between the interest rate and the normal profit rate?
18. “The higher is the risk aversion of the entrepreneurial community of an economy, the higher are the prices of services.” Do you agree? Explain.

L2: How changes in demand and in costs affect prices in competitive markets

19. Suppose K = 3000€, KE= 1000€, i=10%, δ=10%, marginal cost = 2€, annual salaries of overhead workers = 1000€, production capacity = 125 units, normal rate of utilization (ut) = 80%, normal rate of profit = 10%.

Calculate the price set by the firm if it operates in a competitive market.
20. Why does an increase in the rate of utilization tends to lead to higher investment?

Answer usint not only what was explained in the lecture, but also the ideas presented in the last paragraph of p. 3 + beginning of p. 4 of the following paper:

https://www.tandfonline.com/doi/full/10.1080/09538259.2022.2062962
One you are here, click the pdf option to enter into the paper and download it.

21. Suppose all businesses of a competitive market are operating at the normal rate of utilization and enjoying (only) normal profits.

a) Illustrate in a graph the position the typical business is in.

Now, suppose that the demand directed to the product of the industry falls.

b) What’s the effect on the price of the product? Explain.

c) In the above graph, represent the movement of the position the business is in.
d) In the short-term: what happens to the rate of utilisation of the firm? And to its profit rate? Explain.
e) What are the consequences of those facts on the behavior of established firms? Explain.

f) What are the consequences of those facts on the behavior of potential new firms? Explain.

g) In the long-term: what happens to the rate of the rate of utilization of the firm? And to its profit rate? Explain.

h) Represent the movement of the position of the firm from the short-term to the long-term.
i) Summarize the effects – both in the short and in the long term - of the decline in demand on the price, output and production capacity (of the firm and of the industry), on the rate of utilization and on the profit rate.

22.. Suppose all businesses of a competitive market are operating at the normal rate of utilization and enjoying (only) normal profits.  Explain the process that leads to an increase in the price of the produced good if the interest rate on the loans rise permanently from 2% to 10%. Clue: it is the opposite of the process analyzed in the last part of lecture 2.
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